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CORR BT L. 15emPA R + CO 3.25 m
CORSUABEA: I t =15cm 10. 54 m2
CORSUEH: I 10. 54%0. 15 1.58 m3
Covi 7K THE i AL R T (3. 25%0. 15)*0. 023 0.01 m3
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EJE FE BRI FEASCLS » t=5em 37.52 m2
XE# LT 1.00 =
X [ T 1.00 =
Ve = X R FHE 15emiE M 14.60 m
Y77 45emiE M 2.60 m
JHV - Fl - CF 1bemdfiE A 5.35 m
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m m2 m2 | SREELE (FEERE)
&t 0. 00 37.52 0. 00 37. 52




RO TR EHEE

T B & H = 2
BEAR3 TAZ7 7R (t=5cm)
@® 4.05
@ 10. 85
Gl 14. 90
YR/ EPRALE T B AEMLI T (7 A7 7 v MR)
(14. 90%0. 05) *0. 023 0. 02
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@sMulfR 3.00
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T B % #H & 5 2
R4

SHEEREET 1.00 =
BHLERRU 2 T 1.00 =
SRR T T 15cmPA T+ AS (83.55+3. 70) 87.25 m
AL R RBAZE T 15ecmELF « AS W>3. Om 328.52 m2
Sl AL RRURHAZE T 15emPLF + AS 1. 4m=W=3. Om 50.75 m2
As7B g T 328. 52%0. 05 W>3. Om 16.43 m3
AsHEIENE T 50. 75%0. 03 1. 4m=W=3. Om 1.52 m3
V) K B AL B T (83. 55%0. 05+3. 70%0. 03) *0. 023 0.10 m3
HET 1.00 =
(RSN 1.00 =
R IE MR M30-0  t=3cm (328. 52+50. 75) 379.27 m2
T AT 7L MEET 1.00 =

*E FAEBRIEEASCLS + t=5em 328.52 m2 (HE3E

& FAEZRIEASCLS « t=3cm 50.75 m2 (#E
X EiHR T 1.00 =
ENETE S 1.00 =
Ve =X i R FHE 15emiE A 123.15 m
Y77 45miE H 30.60 m
T 1.00 =
i L 1.00 =
SRRl (FL ) ¢ 100 - H=0.80m * 2mt’ > F 7T K
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BRI
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+5. 75 0.00] 3.80 0. 00
+15. 80 10. 05| 3.85 38. 44
+19. 80 4,00 3.80 15. 30
NO. 2 0.20] 3.80 0.76
NO. 2 0.00] 3.40 0. 00
EP (+1. 45) 1.45] 3.45 4.97
OETEY S 31. 80
@ =&k 23.90
OETE Y 40. 09
m m2 m2| A E (FERREY)
&5t 41. 45 330. 16 1. 64 328. 52
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T & # O s =
HEARA E#R  15eniE B
DMl (11. 15+3. 45+0. 80) 15. 40
@Ml 16. 35
@FMAlH 4.70
@Ml 9. 00
®FMAlH 26. 30
® Ml 13. 65
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H B ®

i R

T B % #H & 1
BEHRE

SHEEREET 1.00 =
BHLERRU 2 T 1.00 =
EHEERR B T 15cmEL |« AS 11.30 m
AL R RBAZE T 15ecmELF « AS 21.64 m2
AsHETENE T 21. 64%0. 05 1.08 m3
V) 7K AL T (11. 30%0. 05) *0. 023 0.01 m3
HET 1.00 =
SV T 1.00 =
REEEEIE| MR M30-0  t=3cm 21.64 m2
T AT 7V ML 1.00 =
| FAEBRIEEASCLS - t=5cm 21.64 m2
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